@eYJus
Madhya Pradesh Board Model Paper
UTee U3 U3
Science
heT X
T 1 03:00 EC 37 : 80
Time 03:00 hrs Max. 80 Marks
ol Y3 &1 F&AT 19 Hl U 22
No of printed page: 19 Total Question: 22

frcer —
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(vi) T b 5 I 22 TP AdR® Ay fod = g
Instructions :-
(i) All questions are compulsory.
(i)  Question no 1 to 4 are objective type question. (total 32 marks)
(iii)  Question no 5 to 14 each question contain 2 marks (word limit 30
words)
(iv) Question no 15 to 18 each question contain 3 marks (word limit 75
words)
(v)  Question no 19 to 22 each question contain 4 marks (word limit 120
words)
(vi)  Internal options are given in question no. 5 to 22.

(1). FE fdbeu gadx forRay | [1X8=8]

(@) <ilg <ol AT T BTSSIaAlND 7T STAT H oo

()  BIgSod I T MRA FIRIgS (i) d@N= ™ 9 R
CRkll HESICRIEEECRE]

(i) PIs rfAfhar T8 (iv) STRIRT 99T d STel g9+

(@) ydel ARI # eTgeli BT i S Ahd DI AT HEATN T oo

(i)  Tdar (i) SreTdaEIdr
(iii) ~ dTelhd (iv)  eaferar
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(1) <7 TIBT BIRBT B F Wefl W BT BEA B oo

(i) g (i) REe
(i) TR (iv)  STTeT

(&) AT ST Jehold ERT BIAT 8 oo

(i)  orHmEr (i) <
(i)  ITSareTH (iv) oI

(8) I aRT I B B AT BT FEA & cooeoreor

() = (i)  TegArex
(i) UHER (iv) Hex

(@) /91 | B9 IAER Gl BT AT BT T oo

(i) =T, g qAT A (i) O, gH qAT A
(iii) 9B, T q_AT BRI (iv) ©TN, A9l a7 gh

(®) faea & Ha9 TSI A HH B ATl UTRHIAD FHET DT AT T oo

(i) oI (i) o+
(i)  gad (iv) R YT

(B) amad ARl # IMaadl & AEAT BICH & o

(i) 4 (i) 6
(i) 7 (iv) 8
Choose and write the correct alternative. [1X8=8]

(A) What happens when dilute hydrochloric acid is added to iron fillings ?

(i) Hydrogen gas & iron chloride (ii) Chlorin gas & iron hydroxide
are produced are produced
(iii)  No reaction takes place (iv)  Iron salt & water are produced

(B) The ability of metals to be pulled into thin wires is called ..................

(i) Tensility (i)  Malleability
(iii)  Conductivity (iv)  Soundness
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(C) The gap between two neurons is called a ................

(i) Dendrite (i)  Synapse
(iii)  Axon (iv)  Impulse

(D) Asexual reproduction takes place through budding in..................

(i) Amoeba (i)  Yeast
(iii)  Plasmodium (iv)  Leishmania

(E) The device used to produce electric current is called................

(i) Generater (i)  Galvanometer
(iii)  Ammeter (iv)  Motor

(F)  Which of the following constitute a food chain?

(i) Grass, Wheat & Mango (i)  Grass, Goat & Human
(iii) Goat, Cow & Elephant (iv)  Grass, Fish & Goat

(G) World's fastest depleting natural resource is .............ccc......

(i) Water (i)  Forest
(iii))  Wind (iv)  Sunlight

(H) Number of periods in the Periodic table is ...............

iy 4 (i) 6

(i) 7 (iv) 8

(2). Raa v 9RY | [1X8=8]

(@) TA TP oo ATATSS T |

(@) arqy U S Td g BT Il © |

(1) ATT IR YT RIY & 919 Sifdd Fder RIUT B ATAT HAD oo
HEAMT 2 |
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Fill in the blanks : [1X8=8]
(A) Waterisa ......ccoeeeeunnnes oxide.
(B) Metals are generally .....cceeveeeeeeeeennnnnns of heat and electricity.
(C) The tissue which establishes a physical connection between mother &
foetusiscalled .......ccvvveeeeeennnnn.
(D) e is responsible for water transportation in plants.
(=) ISR are found in anther.
(F) e, is the father of genetics.
(G) The resistance of wireis .......cccccuvvvvreeenn.. to its length.
(H) Brain and spinal cord make up the ......ccccevveeeeeeennns system.
(3). Sire! fiem &R falRedy | [1X8=8]
III I”I
() s sferen fpameiier eng (i) SRR
(@) A Xad <16 (ii) STEaifex
(1) arey B (iiii) e RRH
(&) gep1oy ST fEm (iv) dlee
(8) IRI &1 fenfewmr (v) flgmrasdt |
(@) o & (vi) IrgHTSE YT
() SRT gRgftedT (vii) 120/80 mmHg
(&) fagga fovaraR (viii) TS CTPTS
(ix) 3radat o
Match the column : [1X8=8]
III I”I
A. Most reactive metal (i) cytokinen
B. Normal blood pressure (ii)  potassium
C. Plant normone (iii)  Testosterone
D. Regulating the formation (iv)  Atmospheric
of sperm repraction
E. Twinkling of stars (v) 120/80 mmHg
F. Power of lens (vi) Concave lens
G. Presbyopia (vii) Volt
H. Electric potential (viii) Bifocal lenses
(ix) Dioptre
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(4). vp arag # IR foRau | [1X8=8]

(@) g ST B pH 714 IRy |

(@) <7 a1 JT ¥ fF argell & FARN A # FEd g
) B el @ gkl § uTY ST arel avie & A forRav |
) R IS Td AT D D AAdd DI Had ©

(§) fofir fFeiRor &= arel oREA
)
)

ol @1 & &1 F falay |
e gfteca ¥ &= § 39 A1 o SUAT R Sirar 2
(1) faega uftRg @1 S.. A5 fafa

Write True or False : [1X8=8]
(A) Write the pH value of distilled water.
(B) Two or more metals homogeneous mixture is called............
(C) Name the pigment found in green leaves.
(D) The fussion of male and female gamets are called.
(E) The chromosome responsible for sex determination is ............
(F) Write the formula of power of lens.
(G) To correct myopia which lens is used.
(H) Write the S.I. unit of Resistance.

(5). Tad=T B fobar BT SoTerd srfafshar @ dEd € ? 2
Why is respiration process considered an exothermic reaction?
a31erdT / Or

deT Ud qERad yardl dl ATsgio | gIfad i fhar Smar g ?

Oil and fat containing food items are flushed with nitrogen, why?

(6). T FRIT B ? 2
What is Amalgam ?
31qd1 / Or
&R R 7 ?
What is Corrosion ?
(7). ATl @I 3fTad ARON &7 a9 folRaw | 2
Write the Mendaleev's Periodic law ?
31qd1 / Or
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efs &1 e fom Rigia faRay |

Write the Newland's Law of octaves.

(8). A 3R RRT # &3 71 iR forfay | 2
Write any two differences between arteries and veins.
31qd1 / Or
JMRAT T TR a9+ § dIg < 3faR forlau |

Write the differences between aerobic and anaerobic respiration.

(9). B AP yaeH R 7 ? 2
What is vegetative propagation ?
31qd1 / Or
TIORTTOT T & 2
What is Self pollination ?
(10). Aa § g=d B foiT MaRor & Bar 8 ? 2
How is the sex of the child determined in human beings ?
3714t / Or
Hed & yHIfadT &1 e faRay |

Write the Mendel's dominant law.

(11). wigad & faw foRau | 2
Write the rules of Reflection.
31d1 / Or
rgacH & o forRay |

Write the rules of Refraction.

(12). 2rgH &1 o ey | 2
State Ohm's law.
3714t / Or
faera uRuer &1 1 31ef 7 ?

What does an electric circuit mean ?

(13). fa=ga fava @m € 2 2
What is electric potential ?
31qd1 / Or
gfoRI fHd wed © ?

What is Resistance ?
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(14). TIRGT & Slg gcd & 9™ faRay | 2

Write the name of the biotic component of ecosystem?
311dT1 / Or
A IR & & B8 & HRUT [TRaY |

Write the reason of deplition of ozone layer.

(15). 1 AT FHIDHROT DI Fford DI | 3
() HNO;3 + Ca(OH), —— Ca(NOs), + H,0
(@) NaOH +H,S0, ——» Na,SO, +H,0
(1) BaCl, +H,SO, —» BaSO,+ HCL

Balance the following chemical equations :
(a) HNO3 + Ca(OH); ——» Ca(NOs), + H,0
(b) NaOH + H,SO;, ——» Na,SO, + H,0
(c) BaCl, + H,SO, —— BaSO, + HCL
31qd1 / Or

RIS AfAfhar fod wed § ? FIIo g UfoRenys Iffhar o Sarexon
Afed aasTsy |

What is Chemical reaction ? Explain the combination and displacement
reaction with example.

(16). YATGT & FHY I Fa I YT BT & ? 3
Why does the sun appear reddish early in the morning ?

31qd1 / Or
oS g9Tg B Ierexvr afed forfRau |

Write the Tyndall effect with example.

(17). G gt @13l & o7 forRey | 3
Write the properties of magnetic lines.
31qd1 / Or
FART & IV 81 &1 e forRay |
Write the Fleming's right hand thumb rule.

(18). ToIl BT ITH AT RIT & ? 3
What is good source of energy ?
31qd1 / Or
STared S 7 ® ? 3iR s R eIt 'y § 7 forlRed |

What is fossil fuels and Write the disadvantages of fossil fuels.
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(19). foRST® ol Ud arae Arel & JF Ud I9d ai—al ITANT oy | 4
Write the formula and use of Bleaching powder and washing soda.
317d1 / Or
R | wiRex 3T IR & UT BRI ? FHIGR0T Afed IHsmgy gd
TRER 3T IR & SuIRT ffRay |

How is Plaster of Paris obtained from Gypsom ? Explain with equation,

write applications of POP.

(20). fF=faRaa wrfAe Dfel & wvemT g3 ey |
(@) T @) 9vd (1) FeA (F) i [1+1+1+1=4]
Write the structure and formula of these organic compound.
(a) Ethane (b) Propane (c) Butane (d)  Ethene
317q1 / Or
fferRad el @ gelag™ fig | forfay |
(@) Co, (@ H,0 (1) NH; (&) CH,
Write the structure and formula of these organic compound.
(a) Co, (b) H,O (c) NHs (d) CH,

(21). AT & 9T BT ARG I q8Y | 4
Draw a labelled digrame of human digestive system.
317d1 / Or
AId geg Bl AMifdbd frE a1 |
Draw a labelled digrame of human heart.

(22). foodll sraaet o @ BIHd 0 15cm 2| &9 &7 o\ 9 fhad 8 w® G
% g9 gRT 9 @1 o ¥ 10cm ¥ W yfafe a9 ? o gRT S
maed erAar W1 Sid BT | 4
A concave lens has focal length of 15cm. At what distance should the
object from the lens be placed so that it forms an image at 10cm from the
lens? Also, find the magnification power produced by the lens.

31qd1 / Or
T sreHEge # 4o &1 g < & o7y IUANT B9 drel I3l QU
@I aghal AT 3.00m T | IS b 99 59 IUUT A 5.00m BT G TR Rerd
g, 1 ufafem @1 Rafa, gl dom AES sa ST |
A convex mirror used for rear view on an automobile has a radious of
curvature of 3.00m. If a bus is located at 5.00m from this mirror. Find the

position, nature and size of the image.
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